

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
1	T-Shirt Jersey Circular Knit Crop Regular Pull On Closure Solid Summer SS-24 Beatnik Casual Wear Round Neck Short Sleeve Typography Screen Print Drop Shoulder Mid Fashion	61091000	2.00	PCS	599.60	1,199.20	0.00	0.00	0.00	0.00	0.00	5.00	59.96
2	Jeggings Denim Woven Ankle Length Slim Fit Pull On Closure Solid All Weather SS-24 Beatnik Casual Wear Stretchable High-Rise Textured Elastic Basic Essential Core Womens Jegging & Treggings	62046200	1.00	PCS	759.60	759.60	0.00	0.00	0.00	0.00	0.00	5.00	37.98
3	Western Shirt Cotton Woven Crop Fitted Button Printed Summer SS-23 Beatnik Casual Wear Button-Down Full Sleeve Check Buttons Cuffed Sleeves Mid Fashion Womens Shirt	61062010	2.00	PCS	599.60	1,199.20	0.00	0.00	0.00	0.00	0.00	5.00	59.96

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
4	Wide Leg Twill Woven Full length Slim Fit Zip Solid Summer SS-24 Beatnik Evening Wear U Neck Sleeveless Twill Chains Shoulder Straps High Fashion Womens Rompers & jumpsuits	61044200	2.00	PCS	1,399.60	2,799.20	0.00	0.00	0.00	0.00	5.00	139.96	
5	Pleated Pants Polyester Woven Ankle Length Fitted Button & Zip Solid All Weather AW-23 Beatnik Formal Wear Stretchable High-Rise Textured Buttons Mid Fashion Adjuster	62046300	2.00	PCS	799.60	1,599.20	0.00	0.00	0.00	0.00	5.00	79.96	
6	Bodycon Dresses Mesrati Woven Midi Fitted Zip Solid Summer SS-24 Beatnik Formal Wear V-neck Sleeveless Textured None Sleeveless Mid Fashion Womens Dresses	62041300	4.00	PCS	999.60	3,998.40	0.00	0.00	0.00	0.00	5.00	199.92	

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
7	Skater Dresses Chiffon Woven Mini Fitted Button & Zip Printed All Weather AW-23 Beatnik Casual Wear V-neck Full Sleeve Floral None Full Sleeves Mid Fashion Womens Dresses	61044300	4.00	PCS	919.60	3,678.40	0.00	0.00	0.00	0.00	5.00	183.92	
8	T-Shirt Jersey Circular Knit Crop Regular Pull On Closure Solid Summer SS-24 Beatnik Casual Wear Round Neck Short Sleeve Typography Screen Print Drop Shoulder Mid Fashion Womens Polos & T-shirts	61091000	1.00	PCS	519.60	519.60	0.00	0.00	0.00	0.00	5.00	25.98	
9	Western Shirt Chiffon Woven Regular Regular Button Printed Autumn (Pre-Winter) SS-23 Beatnik Evening Wear Button -Down Full Sleeve Animal print Buttons Cuffed Sleeves Mid Fashion Womens Shirt	62064000	1.00	PCS	719.60	719.60	0.00	0.00	0.00	0.00	5.00	35.98	

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3
 Tax is payable on Reverse Charge : No
 Invoice No : PI00/00048/25-26
 Invoice Date : 22/01/2026

Transporter Name :
 Vehicle No :
 Date & Time of Supply : 22/01/2026 5:30 AM
 Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	CGST		SGST		IGST	
								Rate	Amount	Rate	Amount	Rate	Amount
10	A-line Tops Satin Woven Regular Regular Button Printed All Weather AW-22 Beatnik Evening Wear Round Neck Full Sleeve Animal print Buckle Cuffed Sleeves Mid Fashion Womens Top	62064000	6.00	PCS	639.60	3,837.60	0.00	0.00	0.00	0.00	0.00	5.00	191.88
11	Ball Gown Dresses Organza Woven Midi Balloon Fit Zip Printed Autumn (Pre-Winter) AW-24 Beatnik Party Wear Square Neck Full Sleeve Floral Buttons Puff Sleeves High Fashion Womens Dresses	62041300	4.00	PCS	1,999.60	7,998.40	0.00	0.00	0.00	0.00	0.00	5.00	399.92
12	T-Shirt Jersey Circular Knit Regular Regular Pull On Closure Solid Summer SS-24 Beatnik Casual Wear Round Neck Short Sleeve Typography Screen Print Drop Shoulder Mid Fashion	61091000	2.00	PCS	599.60	1,199.20	0.00	0.00	0.00	0.00	0.00	5.00	59.96

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
13	3 Piece Coord Georgette Woven Crop Regular Pull On Closure Printed Summer SS-24 Beatnik Casual Wear Square Neck Sleeveless Floral Bra strap Sleevesless High Fashion Full Length Hook & Zip High-Rise Womens Coords	62041300	4.00	PCS	1,399.60	5,598.40	0.00	0.00	0.00	0.00	5.00	279.92	
14	Shirt Style Tops Georgette Woven Hip Length Regular Button Printed Summer SS-25 Beatnik Casual Wear Mandarin Collar Full Sleeve Floral Lace Cuffed Sleeves Mid Fashion Womens Top	62064000	2.00	PCS	879.60	1,759.20	0.00	0.00	0.00	0.00	5.00	87.96	
15	Bodycon Dresses Lurex Knitted Circular Knit Midi Fitted Tie-Up Solid All Weather AW-24 Beatnik Party Wear Round Neck Full Sleeve Solid Sequins Regular Sleeves High Fashion Womens Dresses	61044300	1.00	PCS	1,079.60	1,079.60	0.00	0.00	0.00	0.00	5.00	53.98	

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
16	Straight Fit Denim Denim Full Length Straight Button & Zip Solid All Weather AW-23 Beatnik Casual Wear Stretchable High-Rise Textured Buttons Clean Look Mid Fashion Mild 200 WSH-18 Womens Jeans	62046200	2.00	PCS	959.60	1,919.20	0.00	0.00	0.00	0.00	5.00	95.96	
17	Bodycon Dresses Lurex Knitted Circular Knit Midi Fitted Zip Solid All Weather AW-24 Beatnik Party Wear Off-shoulder Full Sleeve Solid Lurex Ruched Sleeves High Fashion Womens Dresses	61044300	3.00	PCS	1,599.60	4,798.80	0.00	0.00	0.00	0.00	5.00	239.94	
18	Top & Pants Satin Woven Hip Length Regular Button Printed Summer AW-23 Beatnik Casual Wear Round Neck Sleeveless Dip-Dye None Sleeveless Mid Fashion Ankle Length Pull On Closure Mid-Rise Womens Coords	62041300	2.00	PCS	1,199.60	2,399.20	0.00	0.00	0.00	0.00	5.00	119.96	

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3
 Tax is payable on Reverse Charge : No
 Invoice No : PI00/00048/25-26
 Invoice Date : 22/01/2026

Transporter Name :
 Vehicle No :
 Date & Time of Supply : 22/01/2026 5:30 AM
 Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
19	Peasant Dresses Georgette Woven Mini Fitted Button Printed Autumn (Pre-Winter) AW-23 Beatnik Casual Wear Mandarin Collar Full Sleeve Geometric Buttons Puff Sleeves Mid Fashion Womens Dresses	62041300	2.00	PCS	1,119.60	2,239.20	0.00	0.00	0.00	0.00	0.00	5.00	111.96
20	2 Piece Coord Crepe Woven Regular Straight Pull On Closure Printed Summer SS -24 Beatnik Casual Wear V-neck Sleeveless Floral None Sleeveless Mid Fashion Full Length Zip Mid-Rise Womens Coords	62041300	1.00	PCS	1,199.60	1,199.60	0.00	0.00	0.00	0.00	0.00	5.00	59.98
21	Shirt Dress Poplin Woven Mini Straight Button Stripes Summer SS-24 Beatnik Casual Wear Shirt Collar Short Sleeve Stripes Buttons Roll-up Sleeves Commercial Low Fashion Womens Dresses	61044200	1.00	PCS	879.60	879.60	0.00	0.00	0.00	0.00	0.00	5.00	43.98

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
22	Treggings Roma Circular Knit Ankle Length Straight Button & Zip Solid All Weather SS-24 Beatnik Casual Wear Stretchable High-Rise Textured Buttons Basic Essential Core Womens Jegging & Treggings	61046200	2.00	PCS	919.60	1,839.20	0.00	0.00	0.00	0.00	5.00	91.96	
23	T-Shirt Jersey Circular Knit Hip Length Oversized Pull On Closure Solid Summer SS-24 Beatnik Casual Wear Round Neck Short Sleeve Typography Screen Print Drop Shoulder Mid Fashion	61091000	4.00	PCS	599.60	2,398.40	0.00	0.00	0.00	0.00	5.00	119.92	
24	Western Shirt LUREX Woven Regular Regular Button Printed All Weather SS-24 Beatnik Casual Wear Spread Collar Full Sleeve Floral Buttons Regular Sleeves Mid Fashion Womens Shirt	61062010	3.00	PCS	719.60	2,158.80	0.00	0.00	0.00	0.00	5.00	107.94	

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
25	Western Shirt Satin Woven Regular Regular Button Printed All Weather SS-23 Beatnik Evening Wear Band Collar Full Sleeve Textured Block Print Puff Sleeves High Fashion Womens Shirt	62064000	1.00	PCS	879.60	879.60	0.00	0.00	0.00	0.00	0.00	5.00	43.98
26	Straight Fit Denim Woven Foot Length Straight Button & Zip Solid All Weather AW- 24 Beatnik Casual Wear Stretchable Super- High Rise Textured Buttons Clean Look Basic Essential Core Clean Look 204 WSH- 14 Womens Jeans	62046200	2.00	PCS	1,119.60	2,239.20	0.00	0.00	0.00	0.00	0.00	5.00	111.96

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
27	Slim Fit Denim Woven Ankle Length Slim Fit Button & Zip Solid All Weather AW-24 Beatnik Casual Wear Stretchable High-Rise Solid Buttons Clean Look Basic Essential Core Clean Look 102 WSH-17 Womens Jeans	62046200	3.00	PCS	799.60	2,398.80	0.00	0.00	0.00	0.00	0.00	5.00	119.94
28	Cargo Pant Cotton Blend Woven Foot Length Straight Button & Zip Solid All Weather SS-24 Beatnik Casual Wear Stretchable High-Rise Twill Pocket Flap Clean Look Mid Fashion Clean Look 1002 WSH-18 Womens Jeans	62046200	4.00	PCS	1,199.60	4,798.40	0.00	0.00	0.00	0.00	0.00	5.00	239.92

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For

Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
29	Western Shirt Poly Moss Woven Regular Regular Button Solid All Weather AW-23 Beatnik Casual Wear Peter Pan Collar Full Sleeve Textured Buttons Cuffed Sleeves Mid Fashion Adjuster	62064000	1.00	PCS	599.60	599.60	0.00	0.00	0.00	0.00	5.00	29.98	
30	Blouson Dresses Chiffon Woven Midi Slim Fit Button & Toggle Printed All Weather SS-23 Beatnik Casual Wear Round Neck Full Sleeve Polka dot Buttons Cuffed Sleeves Mid Fashion Womens Dresses	61044200	3.00	PCS	799.60	2,398.80	0.00	0.00	0.00	0.00	5.00	119.94	
31	Slim Fit Denim Woven Ankle Length Slim Fit Button & Zip Solid All Weather AW-24 Beatnik Casual Wear Stretchable High-Rise Twill Buttons Clean Look Basic Essential Core Clean Look 100 WSH-18 Womens Jeans	62046200	6.00	PCS	919.60	5,517.60	0.00	0.00	0.00	0.00	5.00	275.88	

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
32	Peasant Dresses Crepe Woven Mini Fitted Tie-Up Solid Summer SS-23 Beatnik Casual Wear Square Neck 3/4th Sleeve Textured Tassels Puff Sleeves Mid Fashion Adjuster	62041300	2.00	PCS	639.60	1,279.20	0.00	0.00	0.00	0.00	5.00	63.96	
33	A-line Dresses Georgette Woven Midi Regular Hook & Loop Printed Summer SS-24 Beatnik Casual Wear V-neck Full Sleeve Floral Buttons Cuffed Sleeves Mid Fashion Womens Dresses	62041200	4.00	PCS	1,079.60	4,318.40	0.00	0.00	0.00	0.00	5.00	215.92	
34	Bodycon Dresses Poly Knit Circular Knit Midi Fitted Zip Solid Summer SS-24 Beatnik Evening Wear Round Neck Sleeveless Solid Zip Sleeveless High Fashion Womens Dresses	61044300	2.00	PCS	759.60	1,519.20	0.00	0.00	0.00	0.00	5.00	75.96	

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3
 Tax is payable on Reverse Charge : No
 Invoice No : PI00/00048/25-26
 Invoice Date : 22/01/2026

Transporter Name :
 Vehicle No :
 Date & Time of Supply : 22/01/2026 5:30 AM
 Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	CGST		SGST		IGST	
								Rate	Amount	Rate	Amount	Rate	Amount
35	Blouson Tops Moss Woven Hip Length Regular Tie-Up Printed All Weather AW-22 Beatnik Casual Wear Tie-Up Full Sleeve Abstract Knots & Tie-Ups Puff Sleeves Mid Fashion Womens Top	62064000	2.00	PCS	479.60	959.20	0.00	0.00	0.00	0.00	0.00	5.00	47.96
36	Treggings Roma Circular Knit Ankle Length Slim Fit Pull On Closure Solid All Weather SS-24 Beatnik Formal Wear Stretchable High-Rise Textured Elastic Basic Essential Core Womens Jegging & Treggings	61046200	3.00	PCS	799.60	2,398.80	0.00	0.00	0.00	0.00	0.00	5.00	119.94
37	Western Shirt Satin Woven Regular Regular Button Solid All Weather AW-23 Beatnik Evening Wear Spread Collar Full Sleeve Textured Buttons Cuffed Sleeves Mid Fashion Womens Shirt	61062010	2.00	PCS	799.60	1,599.20	0.00	0.00	0.00	0.00	0.00	5.00	79.96

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
38	Shirt Dress Cotton Woven Midi Fitted Button Printed Summer SS-23 Beatnik Casual Wear Shirt Collar Short Sleeve Stripes Belts Roll-up Sleeves Mid Fashion Womens Dresses	62041300	2.00	PCS	919.60	1,839.20	0.00	0.00	0.00	0.00	0.00	5.00	91.96
39	Top & Pants Poly Moss Woven Crop Slim Fit Button & Zip Printed Summer SS-23 Beatnik Casual Wear Round Neck Short Sleeve Animal print None Puff Sleeves Mid Fashion Foot Length Button Mid-Rise Adjuster	62041300	3.00	PCS	999.60	2,998.80	0.00	0.00	0.00	0.00	0.00	5.00	149.94
40	Sheath/Fit n Flare Dresses Lace Fabric Woven Mini Fitted Button & Zip Solid Summer AW-24 Beatnik Casual Wear Ruffle Neck Full Sleeve Textured Lace Ruffled Sleeves Mid Fashion Womens Dresses	62041300	2.00	PCS	999.60	1,999.20	0.00	0.00	0.00	0.00	0.00	5.00	99.96

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3
 Tax is payable on Reverse Charge : No
 Invoice No : PI00/00048/25-26
 Invoice Date : 22/01/2026

Transporter Name :
 Vehicle No :
 Date & Time of Supply : 22/01/2026 5:30 AM
 Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
41	Neck Tie Up Satin Woven Longline Loose Fit Tie-Up Printed Autumn (Pre-Winter) SS-23 Beatnik Evening Wear Spread Collar Full Sleeve Animal print Knots & Tie-Ups Cuffed Sleeves Mid Fashion Womens Shirt	62064000	4.00	PCS	759.60	3,038.40	0.00	0.00	0.00	0.00	0.00	5.00	151.92
42	2 Piece Coord Twill Woven Regular Regular Zip Solid All Weather AW-24 Beatnik Formal Wear Square Neck Full Sleeve Solid Buttons Regular Sleeves Mid Fashion Full Length Hook & Zip Mid-Rise Womens Coords	62041300	1.00	PCS	1,999.60	1,999.60	0.00	0.00	0.00	0.00	0.00	5.00	99.98
43	Wide Leg Pants Polyester Woven Ankle Length Fitted Zip Solid All Weather AW-23 Beatnik Casual Wear Non-Stretch High-Rise Textured Eyelets Mid Fashion Adjuster	62046300	2.00	PCS	719.60	1,439.20	0.00	0.00	0.00	0.00	0.00	5.00	71.96

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
44	Straight Fit Denim Woven Full Length Straight Button & Zip Solid All Weather AW-24 Beatnik Casual Wear Stretchable High-Rise Twill Buttons Clean Look Basic Essential Core Clean Look 200 WSH-17 Womens Jeans	62046200	1.00	PCS	919.60	919.60	0.00	0.00	0.00	0.00	0.00	5.00	45.98
45	Western Shirt Cotton Woven Crop Fitted Button Printed Summer SS-23 Beatnik Casual Wear Button-Down Full Sleeve Check Buttons Cuffed Sleeves Mid Fashion Womens Shirt	61062010	1.00	PCS	599.60	599.60	0.00	0.00	0.00	0.00	0.00	5.00	29.98
46	Western Shirt Denim Denim Regular Regular Button Solid All Weather SS-24 Beatnik Casual Wear Button-Down Full Sleeve Textured Buttons Cuffed Sleeves Basic Essential Core Womens Shirt	61062010	4.00	PCS	599.60	2,398.40	0.00	0.00	0.00	0.00	0.00	5.00	119.92

Terms & Conditions

1 All Disputes Subject to Jhajjar (Haryana) Jurisdiction.

2 Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

3

4

5

For

Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
47	2 Piece Coord Polyester Woven Regular Slim Fit Button & Zip Solid Autumn (Pre-Winter) AW-23 Beatnik Casual Wear Shirt Collar Full Sleeve Textured Buckle Cuffed Sleeves High Fashion Full Length Button High-Rise Womens Coords	61041200	2.00	PCS	1,999.60	3,999.20	0.00	0.00	0.00	0.00	5.00	199.96	
48	Western Shirt Poly Moss Woven Regular Regular Button Solid All Weather AW-23 Beatnik Casual Wear Peter Pan Collar Full Sleeve Textured Buttons Cuffed Sleeves Mid Fashion Adjuster	62064000	1.00	PCS	599.60	599.60	0.00	0.00	0.00	0.00	5.00	29.98	
49	Formal Shirt Cotton Woven Regular Regular Button Solid Summer SS-23 Beatnik Formal Wear Button-Down 3/4th Sleeve Textured Lace Cuffed Sleeves Mid Fashion Adjuster	61062010	2.00	PCS	759.60	1,519.20	0.00	0.00	0.00	0.00	5.00	75.96	

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3
 Tax is payable on Reverse Charge : No
 Invoice No : PI00/00048/25-26
 Invoice Date : 22/01/2026

Transporter Name :
 Vehicle No :
 Date & Time of Supply : 22/01/2026 5:30 AM
 Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	CGST		SGST		IGST	
								Rate	Amount	Rate	Amount	Rate	Amount
50	Western Shirt Crepe Woven Regular Regular Button Printed All Weather SS-24 Beatnik Casual Wear Spread Collar Full Sleeve Floral Buttons Regular Sleeves Mid Fashion Womens Shirt	61062010	1.00	PCS	719.60	719.60	0.00	0.00	0.00	0.00	0.00	5.00	35.98
51	T-Shirt Jersey Circular Knit Crop Regular Pull On Closure Solid Summer SS-24 Beatnik Casual Wear Round Neck Short Sleeve Typography Screen Print Drop Shoulder Mid Fashion	61091000	2.00	PCS	599.60	1,199.20	0.00	0.00	0.00	0.00	0.00	5.00	59.96
52	Western Shirt Poplin Woven Regular Straight Button Solid Summer SS-24 Beatnik Casual Wear Cutaway Collar Short Sleeve Textured 1 N/A Roll-up Sleeves Basic Essential Core Womens Shirt	61062010	2.00	PCS	599.60	1,199.20	0.00	0.00	0.00	0.00	0.00	5.00	59.96

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
53	T-Shirt Jersey Circular Knit Hip Length Oversized Pull On Closure Solid Summer SS- 24 Beatnik Casual Wear Round Neck Short Sleeve Typography Screen Print Drop Shoulder Mid Fashion	61091000	2.00	PCS	599.60	1,199.20	0.00	0.00	0.00	0.00	5.00	59.96	
54	Top & Pants Crepe Woven Crop Slim Fit Button & Zip Printed Summer SS-23 Beatnik Casual Wear Round Neck Short Sleeve Polka dot Buttons Puff Sleeves Mid Fashion Foot Length Button & Zip Mid-Rise Adjuster	62041300	1.00	PCS	1,279.60	1,279.60	0.00	0.00	0.00	0.00	5.00	63.98	
55	T-Shirt Jersey Circular Knit Regular Regular Pull On Closure Solid Summer SS-24 Beatnik Casual Wear Round Neck Short Sleeve Figure print Vinyl Sticker Print Drop Shoulder Mid Fashion Womens Polos & T- shirts	61091000	4.00	PCS	599.60	2,398.40	0.00	0.00	0.00	0.00	5.00	119.92	

Terms & Conditions

1 All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
 2 Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

3

4

5

For

Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
56	Bodycon Dresses LUREX KNITTED Circular Knit Midi Fitted Half Zip Solid All Weather AW-24 Beatnik Party Wear Square Neck Full Sleeve Ombre Blings Regular Sleeves High Fashion Womens Dresses	61044300	1.00	PCS	1,399.60	1,399.60	0.00	0.00	0.00	0.00	5.00	69.98	
57	Wide Leg Satin Woven Full length Regular Zip Solid Summer SS-24 Beatnik Evening Wear Round Neck Short Sleeve Textured Buckle Regular Sleeves High Fashion Womens Rompers & jumpsuits	61044200	2.00	PCS	1,199.60	2,399.20	0.00	0.00	0.00	0.00	5.00	119.96	
58	2 Piece Coord Satin Woven Regular Straight Pull On Closure Printed Summer SS -24 Beatnik Casual Wear V-neck Sleeveless Floral Buttons Sleeveless Mid Fashion Full Length Button Mid-Rise Womens Coords	62041300	2.00	PCS	1,199.60	2,399.20	0.00	0.00	0.00	0.00	5.00	119.96	

Terms & Conditions

1 All Disputes Subject to Jhajjar (Haryana) Jurisdiction.

2 Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

3

4

5

For

Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
59	Wrap Dresses Crepe Woven Midi Fitted Button Solid Summer AW-23 Beatnik Formal Wear V-neck Short Sleeve Textured Buttons Cap Sleeves Mid Fashion Womens Dresses	61044200	1.00	PCS	1,119.60	1,119.60	0.00	0.00	0.00	0.00	5.00	55.98	
60	Flared Pants Polyester Circular Knit Foot Length Regular Hook & Bar Solid All Weather SS-24 Beatnik Casual Wear Stretchable High-Rise Textured Zip Mid Fashion Womens Trousers	61046300	1.00	PCS	639.60	639.60	0.00	0.00	0.00	0.00	5.00	31.98	
61	Peasant Dresses Chiffon Woven Maxi Fitted Button & Zip Printed All Weather AW-23 Beatnik Casual Wear Mandarin Collar Full Sleeve Floral Lace Bishop Sleeves Mid Fashion Adjuster	62041300	4.00	PCS	1,399.60	5,598.40	0.00	0.00	0.00	0.00	5.00	279.92	

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3
 Tax is payable on Reverse Charge : No
 Invoice No : PI00/00048/25-26
 Invoice Date : 22/01/2026

Transporter Name :
 Vehicle No :
 Date & Time of Supply : 22/01/2026 5:30 AM
 Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
62	Western Shirt Satin Woven Regular Fitted Button Printed All Weather AW-23 Beatnik Evening Wear Spread Collar Full Sleeve Animal print Buttons Cuffed Sleeves Mid Fashion Womens Shirt	62064000	2.00	PCS	679.60	1,359.20	0.00	0.00	0.00	0.00	0.00	5.00	67.96
63	Slim Fit Denim Denim Ankle Length Fitted Button & Zip Solid All Weather SS-24 Beatnik Casual Wear Stretchable High-Rise Textured Buttons Clean Look Core with Fashion Touch Mild 100 WSH-12 Adjuster	62046200	2.00	PCS	799.60	1,599.20	0.00	0.00	0.00	0.00	0.00	5.00	79.96
64	Slim Fit Denim Denim Ankle Length Fitted Button & Zip Solid All Weather AW-23 Beatnik Casual Wear Stretchable High-Rise Textured Buttons Mild distressed Basic Essential Core Mild 100 WSH-17 Womens Jeans	62046200	6.00	PCS	879.60	5,277.60	0.00	0.00	0.00	0.00	0.00	5.00	263.88

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
65	Formal Shirt Poplin Woven Regular Slim Fit Button Solid Summer SS-23 Beatnik Formal Wear Button-Down Full Sleeve Textured Buttons Cuffed Sleeves Basic Essential Core Womens Shirt	61062010	4.00	PCS	679.60	2,718.40	0.00	0.00	0.00	0.00	5.00	135.92	
66	A-line Dresses Linen Blend Woven Mini Regular Button Solid Summer SS-24 Beatnik Casual Wear V-neck Short Sleeve Solid Buttons Puff Sleeves Mid Fashion Womens Dresses	62041200	2.00	PCS	919.60	1,839.20	0.00	0.00	0.00	0.00	5.00	91.96	
67	Treggings Poly Knit Circular Knit Ankle Length Fitted Pull On Closure Solid Winter 2022 Beatnik Casual Wear Stretchable High -Rise Textured Elastic Mid Fashion Adjuster	61046300	2.00	PCS	799.60	1,599.20	0.00	0.00	0.00	0.00	5.00	79.96	

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
68	Blouson Dresses Georgette Woven Mini Slim Fit Button & Toggle Printed All Weather AW-23 Beatnik Casual Wear V-neck 3/4th Sleeve Floral Button Loops Full Sleeves Mid Fashion Womens Dresses	61044200	2.00	PCS	999.60	1,999.20	0.00	0.00	0.00	0.00	5.00	99.96	
69	Western Shirt Satin Woven Regular Regular Button Printed All Weather AW-23 Beatnik Casual Wear Band Collar Full Sleeve Animal print Buttons Cuffed Sleeves Mid Fashion Womens Shirt	62064000	1.00	PCS	879.60	879.60	0.00	0.00	0.00	0.00	5.00	43.98	
70	Wrap Dresses Polyester Woven Mini Fitted Button Solid Autumn (Pre-Winter) AW-23 Beatnik Evening Wear V-neck Full Sleeve Textured Buttons Bishop Sleeves Mid Fashion Womens Dresses	62041200	1.00	PCS	999.60	999.60	0.00	0.00	0.00	0.00	5.00	49.98	

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
71	T-Shirt Jersey Circular Knit Crop Regular Pull On Closure Solid Summer SS-24 Beatnik Casual Wear Round Neck Short Sleeve Typography Screen Print Drop Shoulder Mid Fashion Womens Polos & T-shirts	61091000	1.00	PCS	519.60	519.60	0.00	0.00	0.00	0.00	0.00	5.00	25.98
72	Cargo Pant Denim Woven Full Length Straight Button & Zip Solid All Weather SS-24 Beatnik Casual Wear Stretchable Super-High Rise Textured Pocket Flap Clean Look Core with Fashion Touch Mild 1000 WSH-15 Womens Jeans	62046200	4.00	PCS	1,199.60	4,798.40	0.00	0.00	0.00	0.00	0.00	5.00	239.92
73	Halter Dresses Chiffon Woven Mini Loose Fit Button Printed Summer SS-24 Beatnik Casual Wear Halter Neck Sleeveless Floral None Sleeveless Mid Fashion Womens Dresses	62041300	4.00	PCS	999.60	3,998.40	0.00	0.00	0.00	0.00	0.00	5.00	199.92

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3
 Tax is payable on Reverse Charge : No
 Invoice No : PI00/00048/25-26
 Invoice Date : 22/01/2026

Transporter Name :
 Vehicle No :
 Date & Time of Supply : 22/01/2026 5:30 AM
 Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
74	Wrap Tops Lurex Knitted Circular Knit Hip Length Fitted Pull On Closure Solid Autumn (Pre-Winter) AW-24 Beatnik Party Wear Off-shoulder Full Sleeve Solid 1 N/A Regular Sleeves High Fashion Womens Top	62063000	1.00	PCS	919.60	919.60	0.00	0.00	0.00	0.00	0.00	5.00	45.98
75	Western Shirt Moss Woven Regular Regular Button Solid All Weather AW-23 Beatnik Evening Wear Spread Collar Full Sleeve Textured Lace Cuffed Sleeves High Fashion Womens Shirt	61062010	4.00	PCS	919.60	3,678.40	0.00	0.00	0.00	0.00	0.00	5.00	183.92
76	Western Shirt Satin Woven Regular Regular Button Printed All Weather AW-23 Beatnik Casual Wear Mandarin Collar Full Sleeve Animal print Buttons Cuffed Sleeves Mid Fashion Adjuster	62064000	6.00	PCS	759.60	4,557.60	0.00	0.00	0.00	0.00	0.00	5.00	227.88

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
77	Western Shirt Cotton Woven Hip Length Fitted Button Printed Summer SS-23 Beatnik Casual Wear Spread Collar Full Sleeve Stripes Smocking Cuffed Sleeves Mid Fashion Womens Shirt	61062010	2.00	PCS	639.60	1,279.20	0.00	0.00	0.00	0.00	5.00	63.96	
78	Western Shirt Cotton Blend Woven Hip Length Regular Button Printed Summer SS-23 Beatnik Casual Wear Button-Down Full Sleeve Paisley Buttons Regular Sleeves Mid Fashion Womens Shirt	61062010	3.00	PCS	599.60	1,798.80	0.00	0.00	0.00	0.00	5.00	89.94	
79	Cargo Pant Denim Woven Foot Length Straight Button & Zip Solid All Weather SS-24 Beatnik Casual Wear Stretchable Super-High Rise Twill Pocket Flap Clean Look Mid Fashion Clean Look 1001 WSH-17 Womens Jeans	62046200	1.00	PCS	1,119.60	1,119.60	0.00	0.00	0.00	0.00	5.00	55.98	

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3
 Tax is payable on Reverse Charge : No
 Invoice No : PI00/00048/25-26
 Invoice Date : 22/01/2026

Transporter Name :
 Vehicle No :
 Date & Time of Supply : 22/01/2026 5:30 AM
 Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	CGST		SGST		IGST	
								Rate	Amount	Rate	Amount	Rate	Amount
80	Western Shirt Satin Woven Regular Regular Button Printed All Weather AW-22 Beatnik Casual Wear Spread Collar Full Sleeve Check Buttons Cuffed Sleeves Mid Fashion Womens Shirt	62064000	2.00	PCS	599.60	1,199.20	0.00	0.00	0.00	0.00	0.00	5.00	59.96
81	Formal Trousers Crepe Woven Full Length Regular Button & Zip Solid Autumn (Pre- Winter) AW-24 Beatnik Formal Wear Non- Stretch High-Rise Solid Buttons High Fashion Womens Trousers	62046300	2.00	PCS	879.60	1,759.20	0.00	0.00	0.00	0.00	0.00	5.00	87.96
82	Drop-Waist Dresses Georgette Woven Mini Fitted Button Printed All Weather AW-23 Beatnik Casual Wear V-neck Full Sleeve Floral Smocking Puff Sleeves Mid Fashion Womens Dresses	61044200	2.00	PCS	879.60	1,759.20	0.00	0.00	0.00	0.00	0.00	5.00	87.96

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3
 Tax is payable on Reverse Charge : No
 Invoice No : PI00/00048/25-26
 Invoice Date : 22/01/2026

Transporter Name :
 Vehicle No :
 Date & Time of Supply : 22/01/2026 5:30 AM
 Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	CGST		SGST		IGST	
								Rate	Amount	Rate	Amount	Rate	Amount
83	2 Piece Coord Georgette Woven Regular Regular Hook & Bar Printed Autumn (Pre-Winter) SS-24 Beatnik Evening Wear Round Neck Full Sleeve Animal print Zipper Details Regular Sleeves Mid Fashion Full Length Hook & Bar High-Rise Womens Coords	62041300	4.00	PCS	1,199.60	4,798.40	0.00	0.00	0.00	0.00	0.00	5.00	239.92
84	T-Shirt Jersey Circular Knit Regular Regular Pull On Closure Solid Summer SS-24 Beatnik Casual Wear Round Neck Short Sleeve Solid Patch Work Drop Shoulder Mid Fashion	61091000	1.00	PCS	599.60	599.60	0.00	0.00	0.00	0.00	0.00	5.00	29.98

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For
 Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
85	Slim Fit Denim Woven Ankle Length Slim Fit Button & Zip Solid All Weather SS-24 Beatnik Casual Wear Stretchable High-Rise Textured Embroidery Clean Look Basic Essential Core Mild 100 WSH-13 Womens Jeans	62046200	4.00	PCS	999.60	3,998.40	0.00	0.00	0.00	0.00	0.00	5.00	199.92
86	Slim Fit Denim Woven Ankle Length Slim Fit Button & Zip Solid All Weather SS-24 Beatnik Casual Wear Stretchable High-Rise Textured Buttons Clean Look Basic Essential Core Mild 100 WSH-11 Womens Jeans	62046200	2.00	PCS	879.60	1,759.20	0.00	0.00	0.00	0.00	0.00	5.00	87.96

Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
-
-
-

For

Sign:
 Authorised Signatory
 Name
 Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Shipping Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Tin / GST : / 09AABCZ9141K1ZT

CGST

SGST

IGST

SNo	Description of Goods	HSN Code	Qty	Unit	Rate	Amount	Disc	Rate	Amount	Rate	Amount	Rate	Amount
87	Top & Pants Schiffli Woven Longline Regular Pull On Closure Embroidered Summer AW-24 Beatnik Casual Wear U Neck Short Sleeve Floral Embroidery Puff Sleeves Mid Fashion Foot Length Zip High-Rise Womens Coords	62041200	1.00	PCS	2,199.60	2,199.60	0.00	0.00	0.00	0.00	5.00	109.98	
88	Peasant Dresses Georgette Woven Midi Fitted Button & Zip Printed Summer SS-23 Beatnik Casual Wear Keyhole Neck Short Sleeve Floral Lace Ruffled Sleeves Mid Fashion Adjuster	62041300	6.00	PCS	919.60	5,517.60	0.00	0.00	0.00	0.00	5.00	275.88	
			213.00			198,114.80	0.00		0.00		0.00		9,905.74

Terms & Conditions

1 All Disputes Subject to Jhajjar (Haryana) Jurisdiction.

2 Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

3

4

5

For

Sign:

Authorised Signatory

Name

Designation

Purchase Invoice

Shops No. A-59, 1st Floor Eastwood village
 Khajurla, Tehsil Phagwara, Distt
 Kapurathala GT Road NH 44, Jalandhar (Jalandhar) , PUNJAB - 144411



GST No : 03AACCZ3447M1Z3

Tax is payable on Reverse Charge : No

Invoice No : PI00/00048/25-26

Invoice Date : 22/01/2026

Transporter Name :

Vehicle No :

Date & Time of Supply : 22/01/2026 5:30 AM

Place of Supply : Greater Noida (Gautam Buddha N

Billing Details

Party Name : Zadley India Pvt Ltd (Purchase)
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh - 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Consignee : ZADLEY INDIA PVT LTD
 & Address : C-184, Sector 63, Noida,
 Gautam Buddha Nagar, Uttar Pradesh,
 Greater Noida (Gautam Buddha Nagar) , Uttar Pradesh -
 201301 (India)

Tin / GST : / 09AABCZ9141K1ZT

Sub Total :	198114.8
TaxAmount :	9905.74
Round Off :	0.46
Bill Amount :	208021

Amount in Words: ₹ Two Lac Eight Thousand Twenty One Only

Amount of Tax Subject to Reverse Charge	0.00	0.00	0.00
---	------	------	------

Certified that the Particulars given above are true and correct

Electronic Reference No

Terms & Conditions

- 1 All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- 2 Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.
- 3
- 4
- 5

For

Sign:
 Authorised Signatory
 Name
 Designation